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83 #BE 1% * % % *x % 5 1P
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86 K B\ 0 16
87 BE KRZE * *x 2 13
88 BHF XTHiE * x x x x 5 1P
89 hE =T * % x *x x b5 1P
90 A =T * % k *x x b 1P
91 ;EH =AM x x x x x b 1P
92 X fEKkE * % >k *x x b5 1P
93 fElE EBEAZEF X ok ok %k 4 9P
94 &1 WX * ok %k 4 9P
95 /MR [HXE 0 16
96 FEFT TEE=E * ok K *x 4 9P
97 /Nl Ei5 *x x 2 13
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A #EE 2 3 2 2 2 20
82 &% BHA 1T 1 1 1 1 1.0
88 #EH ZEHIE 36 4 45 40
90 ;RN ET# 6 5 5 5 4 6.0
91 FH ZAF 5 2 3 6 3 3.0
94 £ HX 4 4 6 3 6 5.0
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82 &% BHA 1.0 1.0 1.0
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90 RN ET# 6.0 6.0 6.0
91 FH ZAF 3.0 3.0 3.0
94 £ HX 5.0 5.0 5.0
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